PLUS Y hT—=TUKR—=—FNI)— X/#v??v —rFC1)—=X
EXHFRTE/\ —%HJEFEHH%

AEIERY bT—VR—F NI =XEF v TFv—R—F ) —XDOEERBERASEDHEIIFAE T,

ANES

@ BB TRELUINME. REFRZTOEVLSEBOWELET,

0%%B$Uﬁ# « BTFIEICEDNTITOTLREY, BRofeH E%@HMH@@EI&fUii

@ 1 E—R— RAMKDEY {17, WU%LRiZAMt@AﬁT]t — FRGFEEFHEEF TS

.m%®#%k9*§bfijt FKW@rﬁmﬁ%in$Ur Q& - ﬁuﬁ%%J%ﬁﬁ?%ﬁ(ﬁém

@ EEH A/ \—DxY iM6ﬁé%ﬁ%LT<héw M6ﬁéM%%ﬁ%?%t$%ﬁ%TLTHﬁ@EIt#UEjo

@ EEE | IS PERL G BRICE Y M TLREL, BRI, BEICEESNTWAS I EZHRBL TS

.377U—Fiﬁﬁi77t—fwF%TVﬁ—$W#kE?%%@%gﬁ%(hévo

@ RER. AE—R— FEREANSISTHREEDTARIEPHTLLLEL, BIINEBHFHREEDVDBANREENDHE
\%mfiti\Flﬁ%t+ﬁﬁﬂgébﬁ%ﬁm\HE%E%E&LT(%?UO

IE%%EN—@@—%

WMoz CEm%z CHERCEEL, A—FRELTWSHEIF. BEVLIFORFGEICTERIEE
EEREEA AN 148 (r%ﬂé'%ﬁﬁﬁlluulj\]é BN— AR EEREESE (2@ MAX6:8K" )
TEREERME/NN— 1 1 (MEMITEBRARE/N— 1A, THEEELE 2@, M4 X6:8%K" )
AETEEERY (M4 X 12%Y) 12K

B SE C AT

i T ORISR b LA ZHRRITER )T TLLEEN, RMEAGBD TRE - HirFiAE] ZCBLE

1. REBBFRORE
o EHBI—IE i BEPRHCRYNET. OO 1O 000
o BN \—ORYHHIBTY. S Tl smm &

D% 7% 100mm B Tk THY T

. E@ﬁ$®ﬁ%m<%&5&ﬂﬁ%&%ﬁb1(ﬁéVw(@ﬁwﬁ Eﬂ o
nxaamr<n \) o
o Ot— r@ﬁ$a47 T KA TEICAARDRY (B S
iﬂb??o
- EREER A \—

TEREERN M/ \—




2. BRI N —ZARICE 1) B,
o TERD M6 3 D% T L#EH £ U THE
PN —ERICRU ST,
EEOHEIC S YT TR IBHRY
VEY, FRETEEL,

(B) AREEEE

[ EREEE RS\ —

3 AR AEN—ICEET B,
OXFEE HEORIF % LBEESED
7y 0\TELDH, o< YAEE TS
OTHEELED EICHEET,
ORLHSETHE M4 X 12 XITF
HEEFSECEELET.

( \

f NS T

7£/§\

o KA%x FHEIESEICE LIAGEEIL2
ATIT2TL TV, ANTHREHZET
LD DRREGD £T,

o IFEIFEREICAFRZINY MIF . &
TARGKEBEIF > TFHICF25R> Ts
ERICEBEEEEICADTWVWA T LA
R L TLIEEL, RENET LT
DEREZY T,

o KA%Z FEHEIEELEICER Y [F1H5 & Tl
EHEEEEL SKEHIANZHZNH
HVEITDT. KEEFE LIFELTL
EEWV, AMEHE R L TFHDERE 7
V£,

B

1

LY
)

(PS5 RcX)

(CE5E] BOMEICLZIIMIFHEE
ROMEICE > TERIFFZE LTLEEL,
RY T EOME

. B

B 7E
ARl

Sreasmmemarsmenmss. S o]

avoU—hEE U-T7357

@ FUILTEICTAZSIF @QU- 757 %2ELiIAH @ XTI THRBZEHDMIFTET,

U- TS THREDINE R IV E SERCEEL,

S2g L O

X AF-IVR) e 2 v ey o2 (GNE)
RF—|VEENEICHERL DS T L ERRBL T, BLUEED R

VI, AEER Y EV IR I TRIMHITET,

N

JILTREH q

, /)
W

J

26-4635-11B




P M-18 Series/N-20 Series Copyboard/C-20 Series Captureboard
L Horizontal Bars Installation Manual for wall mounting
This manual describes how to install bars which assist wall mounting of a copyboard M-18 series, N-20 series and Capture-

board C-20 series. The bars are fastened to columns, wall studs or posts when the wall itself is not strong enough to support
the load of a copyboard.

A WARNING

¢ If you are not a qualified assembly serviceperson, do not perform installation procedures.

* Please be sure to perform the installation and assembly based on this manual. Incorrect installation or assembly will be
the cause of injury.

¢ Please have 2 or more persons lift to the Copyboard when installing or removing it.

e When installing the bars, refer also to Assembly and Setup Manual supplied with the copyboard.

* M6 or equivalent screws shall be used to fasten the bars. Use of screws other than M6 or equivalent can result in the
main unit falling and causing injury.

e The bars shall always be fastened to columns or sturdy wall studs. Make sure that the bars are securely fastened.

e When installing the bars on a concrete wall, use fasteners such as anchor nuts or anchor bolts.

e Do not apply any heavy load such as your body weight to the wall mounted copyboard. If your copyboard is to be
wall-mounted in area accessible to small children, consult with the selling agent or installer to ensure that it will be
securely mounted with sufficient strength.

M Items supplied
Please open the carton and check the parts. In the rare event that something is missing, please contact your store of purchase.

Wall mounting bars Wall mounting bars (horizontal): 2 Main unit package  Top wall brackets : 2
Wall bracket screws (M4 x 6): 16 Bottom wall brackets : 2
Main unit lower section mount screws (M4 x 12): 2

M Installation and assembly

Before installing the bars, mount the pen tray on the copyboard. Please refer to Assembly and Setup Manual supplied with the
copyboard.

1. Mount the top and bottom wall
brackets on the upper and

lower bars.

e Fasten the top wall brackets and the bottom wall
brackets at the right and left ends of each bar by
using the M4 x 6 screws (4 pieces per bracket)
supplied.

crew (M4 x 6)

Top wall brackets 4 pieces

Screw (M4 x 6)
4 pieces
Bottom wall brackets

2. Installation

e The wall mounting bars shall be fastened to columns, wall studs or posts.
e Refer to the illustration for positioning the upper and lower bars. Each bar is

100 x 10=1000mm
|

provided with 8 mm diameter holes at an interval of 100 mm to allow you to Hik: g GRi
properly locate the bar fastening screws.
e Choose appropriate screw holes so that the copyboard center of gravity will be /

centrally located. (Avoid excessively disproportionate mounting.)
® The bracket mounting points are the same for standard or wide type copyboard.

946.5mm

Upper wall mounting bar

Lower wall mounting bar




3. Fastening bars to columns
e Fasten the upper and lower wall mounting
bars to columns or the like using commercially
available M5 or equivalent screws.
Type of screws must be properly chosen
according to the wall materials or conditions.
See below for details.

(Ex.) Wood wall surface

Upper wall mounting bar

# M6 wood screw
N Top wall bracket

Lower wall mounting bar

M6 wood screw
Bottom wall bracket

4. Mounting a copyboard on the
bars
@ Put the sockets located on the top of the
support pieces on the back of the unit on the top
wall bracket hooks, making sure that the sockets
are securely in place. @ Then, gently lower the
unit and place it on the bottom fixing brackets.
® Fasten the bottom edge of the main unit
support pieces using the M4 x 12 screws.

Wall surface

@_

]F/_

Top wall

Back of the unit
Support piece

| bracket

/A cauTION

e Insert the unit in the top wall brackets
with at least 2 people. If the unit comes
out of place, it may fall and cause injury.
After mounting the unit in the top wall
brackets, hold the top of the unit and pull
it forward to make sure that it is securely
in place. If the unit falls, it may cause
injury.

When mounting the unit in the bottom
wall brackets, do not lift the unit up.
Doing so may cause the unit to come out
of the top wall brackets. If the unit falls, it

i
_

3l

e

©)

may cause injury.

(view from the bottom)

Reference: Installation Method for Various Wall Materials
Please perform an installation that suits the wall material.
Please install the main unit to posts or studs when the wall surface is of insufficient strength.

Installation Wall Material Installation Method

Wood screws
(@ Make a suitable hole with an auger and (2) attach the Copyboard
with wood screws.

Wooden Walls

Concrete Walls Anchors

Please use a drill of the hole diameter specified for the anchor.

S o

(M Make a base hole in the wall with a drill. @ Insert the anchor. 3 Fasten the main unit with screws.

Phillips head tapping screws (Pan head)
Check that the steel wall is reinforced and use a drill to make a hole of
suitable diameter, then attach the main unit with tapping screws.

Steel Walls

V)

26-4635-11A




<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /All
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJDFFile false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /Description <<
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000500044004600206587686353ef901a8fc7684c976262535370673a548c002000700072006f006f00660065007200208fdb884c9ad88d2891cf62535370300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef653ef5728684c9762537088686a5f548c002000700072006f006f00660065007200204e0a73725f979ad854c18cea7684521753706548679c300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /DAN <>
    /DEU <>
    /ESP <>
    /FRA <>
    /ITA <>
    /JPN <>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020b370c2a4d06cd0d10020d504b9b0d1300020bc0f0020ad50c815ae30c5d0c11c0020ace0d488c9c8b85c0020c778c1c4d560002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken voor kwaliteitsafdrukken op desktopprinters en proofers. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /PTB <>
    /SUO <>
    /SVE <>
    /ENU (Use these settings to create Adobe PDF documents for quality printing on desktop printers and proofers.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /NoConversion
      /DestinationProfileName ()
      /DestinationProfileSelector /NA
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure true
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles true
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /NA
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /LeaveUntagged
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


